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I 1 mwn: distancing trees from the city
a  Distance: 25 mnr
i Exception: carob and sycamore trees- 50 mny
ii  Dissent: 918w RaR requires 50 mn for all deciduous trees
b If: the city was there first, he must cut it down and isn’t recompensed
i Question: why is this different from a 711, where he must cut down the tree and is paid (if the 712 was there first)
1 Answer (X272 ”3): partners to a liability always wait for the other to pay (and tree won't get cut down)
(a) Challenge: isn’t public nuisance worse? (hence — no payment for tree here?)
(b) Rather: ®an3'7's statement was in re: 89’0, which obligates him to cut it down before receiving money
¢ If: the tree was there first, he must cut it down but is recompensed
i If: there is doubt which came first, he isn’t recompensed
1 Challenge: why is this different than 113, where a pav doesn’t obligate cutting down
2 Answer: in this case, the tree has to get cut down in any case — the tree owner, if he wants to get paid, should
bring proof that his was there first.
d  Reason: to keep city beautiful (open space at its perimeter)
i Challenge: why not provide reason that we can’t make a field into an open area and vice-versa? (n:v 1237y)
1 Answerl: follows 8™ who allows reassigning areas
2 Answer2: perhaps prohibition only applies to sowing, not planting trees
(a) Proof: a 999p which is sown is still “public”; if planted (trees), is considered a 93¥n and, if enclosed for resi-
dence, is a permitted area for carrying on naw
II  'n mwn: distancing a fixed granary (due to damage from winnowing etc.)
a  From the city: 50 mny
b From neighbor’s property: 50 mnR in every direction — and must keep enough distance from neighbor’s saplings & furrow
i Question: why is this last clause distinct (no requirement of 50 mny)?
1 Answer (72a8): refers to temporary granary — one where he doesn’t use a tool to winnow
ii  Alternate (&~ "7): no question — mwn is explaining reason for distance of 50 nnX — to avoid pn
iii ~ Support: ruling that 17 must always be 50 mnr away from other’s plants —in order to avoid pr (77ary R'wp)
¢ Question: why must he distance from furrow? (answer: makes it like a dung-heap and destroys plants)
II v mwn: digusting and rotting things (e.g. carcasses, graves and tanneries) — 50 mnR from city
a  Loc ation: tannery must be on east side of city
i Dissent (¥7): may be anywhere but the west - and must be 50 nnr away (if in other directions)
1  Tangent: Aggadic excursus about the winds, directions and “location” of the nyow (vv. 1-14)
b  And: flax-soaking vat from vegetables; leeks from onions, mustard from apiary — must be distanced
i Dissent (»p» 77): mustard need not be distanced from apiary
1 Reason: just as the mustard hurts the bees, the bees eat up the mustard
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